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COVARIANCE MATRIX CALCULATED SUCCESSFULLY
FCN=12.6394 FROM HESSE STATUS=0K 35 CALLS 540 TOTAL
EDM=0.377572 STRATEGY= 1 ERROR MATRIX ACCURATE
EXT PARAMETER INTERNAL INTERNAL

NO. NAME VALUE ERROR STEP SIZE VALUE
Mass 2.09820e+00 .77151e-02 5.93074e-05 .33319%e-01
Width 1.42776e-01 .93952e-06 2.06551e-05 .60736e-01
Phi 2.82717e+00 .94376e-01 2.13124e-06 .97929e-02
GeeBr 1.66058e+00 .68446e-05 9.20037e-06 .42421e-01
Cco 5.22486e-01 .06500e+00 6.91830e-07 .45087e+00
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COVARIANCE MATRIX CALCULATED SUCCESSFULLY
FCN=12.6345 FROM HESSE STATUS=0K 39 CALLS 509 TOTAL
EDM=0.00495449 STRATEGY= 1 ERROR MATRIX ACCURATE
EXT PARAMETER INTERNAL INTERNAL
NO. NAME VALUE ERROR STEP SIZE VALUE

Mass 2.09452e+00 .18190e-03 8.45137e-05 .71181e-01
Width 1.41093e-01 .91359e-06  4.30455e-05 .20583e-01
Phi 3.66707e+00 .48090e-05 5.02977e-06 .39731e-01
GeeBr 1.91193e+00 .82171e-05 2.34255e-05 .81827e-02
Co 4.16386e-01 .10734e-05 1.15487e-04 .51296e+00
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